nrwa 3"7 'on 2,2 naw .7"02

The 71w states N — 1P NN

OVERVIEW

The X3 asked, how can we include 701577 in the ¥29X 7% 20w when the mwn
writes MX°¥°. X217 answered that 1np M»wA; the word NX°Y° 1s not to be understood
in the sense of carrying out, but rather it means domains. There is a difference of
opinions how do interpret the mwn according to X217 (and also whether X237
intended to change the 807%).

— PN MY D90 MY MNVAIN NP DINYT 1YI1799 ¥AIN 1NV DINY MMHVYY
There are two n1wa which contain four 2°10°X; meaning, the 2’nw refers to
the number of N1"WA, which are the 9"'79 and the >''71-.

nvoIN asks:
— NINA PAIN 1AW DINWI 231NIY 7YY AN RY 19 ONT YN 13 PHYY 195399 YD)

And the X2 finds this explanation difficult; for if indeed 2°nw is referring to

the two (2"771 "717) n1mwn, the 71w should not have stated Y2 pa98 37w 2snwn.
— 259 ARY 0NV DXNY YINA YAIN) D239 YAIN JAY DINY NN

But rather the 71wn should read Y72 ¥29K1 2%102 ¥29R 37w 2°nw; why state 2°nw
twice?!

NID0IN answers:
— 0292 7710V 30531°N %Y 1N2 Y DAY NIV TUN 13 PNYY 13939 ¥99)

And the R'2%9 explained the 7wn that the M9 of naw contain two 2°31n
which extend to four 2°10°R for the one who is inside -
—=\¥Na /7 9nvY 022N 1Y
And two 292’11 which are four 20X for the one who is outside.
— SPHINSIN YIPNRT NIV INIYNT NINKIN 119 N7 TUN 12 PN 139299 NI 4NININN

! Seemingly it should read (as it is in the w"x"7 MdOIN): *"w" WD,

2 According to the proposed X07% the 71wn is understood; '2 naws MW, there are two NI on MW (the 2" ")
which cause four 20X inside and four 2*Mo°k outside. However according to the actual X017 the 7awn reads, there
are two N1 on Naw which cause four 2MO°X on the inside and there are two M™w7 on Naw (the same as the first
two?!) which cause four 2>M0°k on naw. Why the duplicity of the two n1™wn?! See ‘Thinking it over’.

3 According to the X"27, the word 2°nw does not refer to the two n1™wA, but rather to the two 2°2vn (of 7019 ARXIT)
for the "1 and the 2"7v2. Therefore it is understood why the 71wn repeats the word o°nw.

4 The X"2™ understands that X371 did not change the X07% of our 71wn from MR to NP (as it seems from >"wA
X117 171"72), but rather that 827 interprets NX°%° to mean N1 (and not ARXIT).

5 The 0"77n amends this to read NIXXIN.
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nrwa 3"7 'on 2,2 naw .7"02

And it is the view of the X''299 that the word nIN>3s is like the word nmRxn, for
we find that nyw= are called NN (or Px¥N which is similar) —

SNV 1292)9519) D12 PHINNIN 1D (¢45 7a1m3) 29HIT
As is written, 72°7 "MR2IN 17 (and the ends thereof shall be by the sea’) and

we translate the word 1"NMRXIN as 7ANWS; proving that 7x¥N (and therefore 1XXIN) is
connected to MMYA.

SUMMARY

"1 explains that 2°nw M"WI means that there are two mmwA, while the X"2™
maintains that [MX°X> which means] the n1"w" of NAw can cause (2 MOX) '7 1Y "2
YIM2 '7 3w ") ov1o.

THINKING IT OVER

mooIn asks that if 2nw nwA refer to the 7"7M °"71 why does the 71wn repeat it
twice.® mooIn stated previously (MX°¥> X1 7"72) that the question *Inp NMIXX R
(which X217 is answering) was on the 71wn in M¥2aw (and not on our 7Iw»). In the
mwn in M2W it only states '7 17w 0°nw; what therefore is NN difficulty with this
wn?!1°

613 P09, See (217 >3 H¥2) 7152 °"1 "1 in the back of the N2on where he writes: 07PN 21N KY 19 X¥M1 XY 1102
MPWIT 1N XYY "N 891 The 2"7n in nwaw states that the w170 of 1°"NIXYIN (not the 21A7N) is PRI,

7 See annn MR who explains that just like the 91237 NMIXXIN means where the 9123 ends, similarly the ends of the
boundaries of the 7"771 >"717 cause the MoXY of 7015 AR,

8 See footnote # 2.

 See o°now pnn.
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